

$$g'(u) = r(\tan u)(1 + \tan^2 u) - \sqrt{r} \sin u \times f'(\tan^2 u + \sqrt{r} \cos u) \quad (1)$$

$$g'\left(\frac{\pi}{4}\right) = r \times f'(r) - \sqrt{r} \Rightarrow f'(r) = \frac{\sqrt{r}}{r}$$

$$f(u) = \frac{(r + \cos u)(r - r \cos u + \cos^2 u)}{(r + \cos u)(r - \cos u)} \quad g(u) = \frac{r}{r - \cos u} \quad (2)$$

$$f'\left(\frac{\sqrt{x}}{4}\right) - r g'\left(\frac{\sqrt{x}}{4}\right) = (f - rg)'\left(\frac{\sqrt{x}}{4}\right)$$

$$f - rg = \frac{\cos^2 u - r \cos u + r - r}{r - \cos u} = -\cos u \xrightarrow{\text{diff}} -\sin u$$

$$(f - rg)'\left(\frac{\sqrt{x}}{4}\right) = \sin \frac{\sqrt{x}}{4} = -\frac{1}{r}$$

$$f(u) \begin{cases} u > \frac{\pi}{4} \rightarrow (f(u) - r) \sqrt{a u} \rightarrow f'(u) = r \sqrt{a u} + (f(u) - r) \frac{a}{r \sqrt{a u}} \quad (3) \\ \quad = r \sqrt{a u} \quad (1) \\ u < \frac{\pi}{4} \rightarrow -(f(u) - r) \sqrt{a u} \rightarrow f'(u) = -(r \sqrt{a u} + (f(u) - r) \frac{a}{r \sqrt{a u}}) \quad (4) \\ \quad = -r \sqrt{a u} \quad (2) \end{cases}$$

$$(1) - (2) = r(r \sqrt{a u}) = r \sqrt{a} \quad u = \frac{\pi}{4} \rightarrow r \sqrt{\frac{\pi}{4} a} = \sqrt{a} \Rightarrow a = \frac{1}{r}$$

$$\text{let } y = r - a x \quad f(r) = r - f a \quad f'(r) = -a \quad (5)$$

$$\Rightarrow f(r) + f'(r) = r - f a - a = r - a a = -1 \Rightarrow a = \frac{r}{a}$$

$$\Rightarrow f'(r) = -\frac{r}{a}$$

$$\frac{1}{v} = \frac{a + w}{(w_{n+1})^v} \Rightarrow a = \frac{(w_{n+1})^v - v}{v}$$

(3)

$$\frac{a + w}{v} = \frac{a_{n-1}}{w_{n+1}} \Rightarrow \frac{a + w}{v} = \frac{n(w_{n+1})^v - v - v}{v(w_{n+1})}$$

$$\Rightarrow 9w^w + 9w^v - 20w - v = w^w + 14w + a \Rightarrow 9w^w + w^v - 24w - 1v = 0$$

$$\Rightarrow x^w(w_{n+1}) - f(w_{n+1}) - (w^v - f)(w_{n+1}) = 0$$

$$\text{حل من } \Rightarrow x = v, \quad \boxed{a = f}$$

(4) نقطة (2,0) نقطة مستقيم هابلر

$$f'(x) = w x^v + a \quad (2,0) \rightarrow 1v + a = 0 \Rightarrow a = -1v$$

$$f(x) = x^w - 1vx - b \quad (2,0) \rightarrow 1 - 2f - b = 0 \Rightarrow b = -1v \Rightarrow \boxed{b - a = -f}$$

(5)

$$f'(0) = \lim_{x \rightarrow 0} \frac{f(x) - f(0)}{x - 0} = \frac{\sin^n(x)}{x} \xrightarrow{\text{معادل}} \frac{x^n}{x} = x^{n-1}$$

$$\lim_{x \rightarrow 0} \frac{f(x) f'(x)}{(1 - \cos x)^m} = \frac{\sin^n(x) (x^{n-1})}{(1 - \cos x)^m}$$

$$\text{معادل} \Rightarrow \frac{x^n \times x^{n-1}}{\left(\frac{x^v}{v}\right)^m} = \frac{x^{2n-1}}{(x^v)^m (v^{-m})} = (x^{2n-vm-1}) (v^m) = v \sqrt{v}$$

$$x=0 \rightarrow v^m = v \sqrt{v} \Rightarrow v^m = v^{\frac{11}{2}} \Rightarrow m = \frac{11}{2}, \quad f_{n-1} = vm = 11$$

$$\Rightarrow f_n = 1v \Rightarrow n = v \quad \boxed{vm + n = 11 + v = 1f}$$

$$y = \frac{\sqrt{x} + 1}{\sqrt{x} - 1} \Rightarrow \bar{f} \rightarrow x = \frac{\sqrt{y} + 1}{\sqrt{y} - 1} \Rightarrow y = \left(\frac{x+1}{x-1} \right)^2 \quad (8)$$

$$\left(f^{-1}(x) \right)' = \left(\left(\frac{x+1}{x-1} \right)^2 \right)' = 2 \left(\frac{x+1}{x-1} \right) \left(\frac{-2}{(x-1)^3} \right) \quad x=2 \rightarrow 2 \times \frac{1}{1} \times (-2) = -4$$

$$\frac{f(0) - f(-1)}{0 - (-1)} = 1 - \frac{1}{-1} = 1 - (-1) = 2 \Rightarrow a = -\frac{1}{2} \quad (9)$$

$$f'(1) = 2(x^2+1)^2(2x) \left(-\frac{2}{x^3+1} \right) + \left(-\frac{1}{x^3+1} \right) (2x^2+1)^2 = -4 + (-1) = -5$$

$$y = \sin x \cos x \quad (10)$$

$$\lim_{\frac{\pi}{2} \rightarrow \frac{\pi}{2}} \frac{f(\frac{\pi}{2}) - f(\frac{\pi}{2})}{\frac{\pi}{2} - \frac{\pi}{2}} = \frac{-1 - 0}{\frac{\pi}{2} - \frac{\pi}{2}} = -\frac{1}{\frac{\pi}{2}}$$

$$y = \sin^2 x - \cos^2 x = (\sin^2 x - \cos^2 x) \overbrace{(\sin^2 x + \cos^2 x)}^{=1}$$

$$\lim_{\frac{\pi}{2} \rightarrow \frac{\pi}{2}} \frac{f(\frac{\pi}{2}) - f(\frac{\pi}{2})}{\frac{\pi}{2} - \frac{\pi}{2}} = \frac{1 - 0}{\frac{\pi}{2} - \frac{\pi}{2}} = \frac{1}{\frac{\pi}{2}}$$

$$\Rightarrow \frac{-\frac{1}{\frac{\pi}{2}}}{\frac{1}{\frac{\pi}{2}}} = -1$$